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MoE T B KB 5 & B M &
2 Rk
(1) # +5 —
wh B3 fa = N A =
X 4 W W 7 E I=E 7 Sl o fif
(A) (FM) (FM) (FM) (FM) (FM) (1)
fHE % <3é 4,839 19,427 15,712 39,978 6,563 46,541
FH E AT <3é 4,839 20,227 15,864 40,930 7,263 48,193
e g A 800 A 152 A 952 A 700 A 1,652
X 4y HEFY | BERFY | 8T | FETY | @9y BT YRR 8% Rk | BITY | EFy &5
> (M) (M) (M) (M) (M) (TR FAETEMD | FHCEH) (M) (M) (M)
Ttk B T2 FHIE% 318 5,282 3,216 294 550 1,210 4,842 15,712
PR ffE AT 318 5,402 3,342 550 1,210 5,042 15,864
S A 120 A 126 294 A 200 A 152
7 SEHEELHEE U O E —
1 g o £ s N
X 4 WA W 7F TR, 7 s G fii %
(AN) (M) G G G (M) (M)
fHIE% 6 19,427 14,859 34,286 5,595 39,881
fHE R 6 20,227 15,011 35,238 6,295 41,533
e g A 800 A 152 A 952 A 700 A 1,652
()N, FHEH AR R BB B2/ EX L0,
X 4y BETY | IR TY | @Y | AETY | &9 [EHER Y| RMI EE| FrakEss | B TY [Hae Ty aF
> (M) (M) (M) (M) (M) ([ FACEMD | FHCEHD) (M) (M) (M)
B Y i E% 318 4,429 3,216 294 550 1,210 4,842 14,859
PR i E AT 318 4,549 3,342 550 1,210 5,042 15,011
e g A 120 A 126 294 A 200 A 152
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FaEk A\ 800 [Z DAt D HE R Sy A 800 [ FLih&E
T o WIARTFY A120FH Ty A126TH  (FEFEY 294TFH
B F4 A 152|F Do HE 4y A 152 BIEES A200F
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